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—> Current status of my study



Status

- | tried to do template fitting
- to obtain the solid number of statistical error
- procedure

- first divide the sample to two samples, one as data(int.L
= 50fb™') and another as template

- categorize samples by quark jet flavor or existence of
missing neutrinos

- then fit each samples with template data, and obtain the
fitting errors as the statistical errors for each



Template fit plots L = 50 b
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Statistical errors

. At +/s = 250 GeV
. int.L =50 fb™! for data, int.L ~ 84 fb™! for template

category # of events stat. err. [MeV]
all 294906 8.3
Emiss == O 265317 8.2
Emiss > O 29589 37.0
c/b events 14693 1 13.0

uds events 147975 2.2 the best




Summary & Next

- Template fitting method

- statistical errors have been shown for each categorized
event samples

- W—>qq'(uds jet) event sample gives the best statistical
error, 2.2MeV@Ey=250&L=50fb"!

- For the next,
- check several systematic errors,
- different W mass value
- different jet energy scale fractuation

- and different hadronization models
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Back up



Event categorization
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Template data
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template data Invariant mass of W
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